
MATH 141: Quiz 5
Name:

Directions:

* Show your thought process (commonly said as ”show your work”) when solving each
problem for full credit. Remember to fully simplify.

* If you do not know how to solve a problem, try your best and/or explain in English what
you would do.

* Good luck!

1. Find the absolute maximum and absolute minimum of the function

f(x) = x3 + 4x2 + 1, [−2, 2]

key

Use Closed Interval Method
. O Closed internal

Mech
EVT before using . ② Continues

,yes
ble domain I

① Find crit #'s and pluy them in

f(x) = 3x= 0x

② Solve f(x) = o ⑤ f) DNE.
3x+ 8x = 0 N/A since polynomial
x(3x + 8) = 0

X= 0
,

3x +8=0

x = 0,- f(0) = 03 + 4 . 0 + 1= 1

ignore - of not in E2
,2]

② Check endpoints

-(2) = (2 +

an ef(z) = 2 + 4 .2 + 1 = 8 + 16 + 1 = 25 I may of f(2) = 25 ↓③ f(z) = 9
f(z) =25



2. If u = x2, find the differential du.

3. Consider
f(x) = 1

x , [−3,−1]

Can you invoke the Mean Value Theorem? If not, explain why you cannot.

If you can invoke the MVT, find all values of cwhich satisfy the conclusion of the MVT.

2

Recall definition . If u = f(x) then du = f (x)dx

da = fixdx=

Yes,you
are allowed to . Fleres why :
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②f(x) = - * has domain (0, 0) v(0
, 9) so differentiable on

(- 3
,
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By MVT then is a c + (3,-1) where

j=f where a = - 1
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b=3
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